PAGE  
29

1. what is the difference between DBMS and RDBMS

DBMS:
1)In dbms there is no relationship concept
2) DBMS supports Single User only
3) DBMS treats Data as Files internally
5) DBMS requires low Software and Hardware Requirements.
6)FoxPro, IMS are Examples

RDBMS:
1)It is used to establish the relationship concept between two database objects, i.e, tables
2) RDBMS supports multiple users
3) RDBMS treats data as Tables internally
5) RDBMS requires High software and hardware requirements.
6)SQL-Server, Oracle are examples

2. In which version of oracle u r working?
SQL> select banner from v$version;

3. How u connect oracle from UNIX?

$ su orcale10G
$sql plus

username/password-scott/tiger

4. Difference between group functions and single row functions.

Group Function                           Single Row Function

A group function operates       A single row function operates

on maltiple rows returns one   on one row and returns one result.

single result.

eg SUM(),AVG,MIN,MAX etc     eg UPPER,LOWER,CHR...

5. Difference between TRUNCATE and DELETE

    TRUNCATE   is much faster than DELETE. 
We can not use truncate and delete if integrity constraint is available. It show the following error   (        integrity constraint violated - child record found

                Truncate                                      Delete

Truncate is a DDL statement            Delete is a DML statement

Truncate is a one way trip,cannot    One can Rollback

ROLLBACK


Doesn't have selective                     Has where clause

features (where clause)      

database triggers doesn't fire           database triggers  fire for delete
for truncate.                                                            
Truncate relies memory.                  Delete does not release                        .                                                                             memory 

6. When you use WHERE clause and when you use HAVING clause

HAVING clause is use to restrict a groups of rows. Having clause is use to specify a condition for a group function. Having is written after GROUP BY clause.

The WHERE clause is use to restrict for a single row. Where clause is use to specify a condition for columns or for single row functions. Where clause is written before GROUP BY clause if Group by clause is used.
7, What is the data type in oracle? What is the difference between char and varchar2 data type?
In oracle there is following data types ie 

Data type 


minimum size

maximum size



varchar2 



1


4000


char



        1


2000


number



1


38





date



jan-1-4712 BC 

dec-31-9999


long






        2gigabyte


etc

char ( when u declare a column with a specified size of character data type, and if the data in the column is less than the specified size then the unused space is not release.
varchar2( when u declare a column with a specified size of  varchar2 data type, and if the data in the column is less than the specified size then the unused space is release.

8. Which aggregation functions are use for any type of data type?

The general functions can work with any type of data type. the general functions are 
NVL

NVL2

NVLIF(EXPRE1,EXPRE2)  { if the value of expre1 and exp2 is same then it return null 
COALESCE(EXPRS1,EXPRS2,EXPRS3,- - - - - - - - - )
CASE

DECODE

9. What is the difference between NVL  and  NVL2 ?

NVL(
NVL convert the null value to actual value. 

NVL take two arguments.

Syntax( NVL(nullcolumn , required actual value)

Ex( NVL(comm.,100)

NVL2(
NVL2 convert the null value to the actual value else give the specified value .

NVL2 take three arguments.

Syntax ( NVL2(null column , specify value for not null, required actual value)

Ex( NVL2(comm., sal+comm.,sal);

10. What is the syntax of replace and what is its use?

Syntax of replace(

replace ( text, change_string, replacement_string)
By the replace ( ) function we can replace a string by another string in a text.

11. What is difference between SUBSTR and INSTR

SUBSTR returns a specified portion / part of a string

eg SUBSTR('BCDEF',4) 

output BCDE

INSTR provides character position of character in a string.

eg INSTR('ABC-DC-F','-',2) 

output 7 (2nd occurence of '-')
12. There is a string '120000 12 0 .125' ,how you will find the position of the decimal place

INSTR('120000 12 0 .125' , '.' ,1 )

output 13

13. There is a '%' sign in one field of a column. What will be the query to find it.
'\' Should be used before '%'.    ‘\’ is the escap character.

14. What is the difference between the case and decode?
case(
Case is an expression.
Case can handle range value ( like 2000 to 4000).

Case is ANSI / SQL standard.

Case can process null
select name, job, sal, 

          case      job     when     ‘SALESMAN’     then     sal*1.2  ,




             when     ‘MANAGER’      then     sal*1.3  ,

 



    when     ‘ANALYST’        then     sal*1.1  ,


        else     sal            end       alias_sal 

from emp;

decode(
Decode is a function.

Decode can compare only direct value.

Decode is a PL/SQL  standard.

Decode can not process null.

select name, job, sal, 

          decode(      job    ,        ‘SALESMAN’    ,     sal*1.2  ,




                 ,        ‘MANAGER’     ,     sal*1.3  ,

 



        ,        ‘ANALYST’       ,     sal*1.1  ,


                     sal        )       alias_sal 

from emp;

15. How many type of join in sql? Give the example of each join?

There is following type of join  ie 

( Join in 8i prior)                   ( join in 9i later)

Cartesian join 


     cross join





Equi join                                natural join

Non equi join                         using clause

Outer join                               full outer join or two side outer join

Self join                                  arbitrary join ( ON clause)

Cartesian join

When the data is selected from more than one table with out any join condition then the join is known as Cartesian join.

Ex( select ename, sal , job, dname, loc from emp , dept;   ( in Cartesian join )

Equi join

Equi join is also known as inner join. In equi join a join condition that retrieves rows from one or more tables in which one or more columns in one table are equal to one or more columns in the second table.

Ex( select e.ename, e.job, d.deptno from emp e , dept d where e.deptno = d.deptno;

Non equi join

When there is no equal column between the tables then we can go for non equi join.

Ex( select e.ename, e.losal, e.sal, s.hisal from emp e ,salgrade s where e.sal  between s.losal and s.hisal;

Outer join 


Outer join is a join when all the rows of the tables in join don't satisfy the join condition.


The outer join use (+) sign in the deficient side of the information. If both side is deficient then put (+) in both side of the join condition.

Ex( select e.ename, e.sal , d.deptno , d.dname  from emp e, dept d where e.deptno (+) = d.deptno ;

Self join 


When the table join itself  to get the required out put then we go for the self join. In other word self join is a join where foreign key of a table references the same table.

ex( select    e.empno ,    e.ename,   e.mgr,   m.ename 
from   emp e ,    emp m    where     m.empno    =    e.mgr;
Ex( select   e.empno ,   e.ename,    e.mgr,    e.sal,    e.job,   m.ename
 from   emp   e ,   emp   m     where    m.empno    =     e.mgr;
Cross join

When the data is selected from more than one table with out any join condition then the join is known as cross join.

Ex( select ename, sal , job, dname, loc from emp cross join dept;        (    in cross join   )

Natural join

When of the one table all the columns name and data type match with other table’s columns name and data type then the tables are able to go for natural join.

Ex ( desc mytab

Name                                      Null?    Type

----------------------------------------- -------- ------------

ENAME                                              VARCHAR2(10)

JOB                                                   VARCHAR2(9)

SAL                                                    NUMBER(7,2)




desc myemp

Name                                      Null?    Type

 ----------------------------------------- -------- --------------

 ENAME                                              VARCHAR2(10)

 JOB                                                    VARCHAR2(9)

   select ename, job, sal from myemp natural join mytab;     (  able for natural join )

Using clause 


When the data is retrieve from the tables by using the particular matched column of tables although the tables has more than one matched columns. 
Ex(  


desc mytab

Name                                      Null?    Type

----------------------------------------- -------- ------------

ENAME                                              VARCHAR2(10)

JOB                                                VARCHAR2(9)

SAL                                                NUMBER(7,2)



desc myemp

Name                                      Null?    Type

 ----------------------------------------- -------- --------------

 ENAME                                              VARCHAR2(10)

 JOB                                                CHAR(12)

Select m.job, t.sal from myemp m join mytab t using(ename);

Arbitrary join / ON clause

When the column name is same or different having same data type then we can join the  tables by using ON clause.

Ex(  select e.empno, e.ename, e.job, m.mgr from emp e join emp m on (e.mgr = m.empno);              {here in above example column names are differ having same data type }

          Select e.empno, e.ename, e.job, d.deptno from emp e join dept d on (e.deptno=d.deptno);            { here the column names are equal }


Outer join 


Outer join is a join where all the rows of the tables in join don't satisfy the join condition.  In 9i later the outer join is three type is 


1)        Left outer join    ( when deficiency in right side )

Ex( Select e.empno, e.ename, e.job, d.deptno from emp e right outer join dept d on (d.deptno= e.deptno);

Right outer join  ( when deficiency in left side )

Ex(   Select e.empno, e.ename, e.job, d.deptno from emp e left outer join dept d on (e.deptno=d.deptno);


3)     Full outer join     ( when deficiency in both side)
           Ex(   Select e.empno, e.ename, e.job, d.deptno from emp e full outer join dept d on (d.deptno= e.deptno);

16. What are the multi row operators in oracle?  Why they r in oracle? Give their examples? 

In oracle there is following multi row operators ie      in   ,  not in ,   any ,   < any ,        > any  ,    all   ,    < all   ,    > all
 Some time it is required to check the multiple vaues so we need the multi row operaters because the multiple value checking is too difficult in single row operater.   

Multi row operater is usefull for subquery where inner query return multiple vaue.

IN (

In means equal to any member in the list.

Ex (  Select ename, sal , job from emp where deptno in(20,30 ,50,60);

Ex(   Select ename, sal , job from emp where deptno in (select deptno from emp group by deptno);

Ex( select e.empno,e.ename from emp e  where e.empno IN (select m.mgr from emp m);    { it display the out put who has sub ordinate }
ANY (

ANY means equal to any of the member in the list. That means it act as IN operater.


ANY operater has two more form that is   < ANY          and          >  ANY  

< ANY  means less than the maximum in the list.

> ANY means greater than the minimum in the list.

Ex(  Select ename, sal , job from emp where sal < ANY (select max(sal) from emp group by deptno);

Ex(  Select ename, sal , job from emp where sal > ANY (select min(sal) from emp group by deptno);

ALL (

ALL means it compare all vaue with the list.

All operater has three more form ie     <  ALL    ,     >  ALL        and  < >  ALL

 < ALL   means less than the minimum in the list.

>ALL    means  greater than the maximum in the list.

< > ALL  means not in the list 

Ex(  Select ename, sal , job from emp where sal > ALL (select min(sal) from emp group by deptno);

Ex(  Select ename, sal , job from emp where sal < ALL (select max(sal) from emp group by deptno);

Ex( select e.empno,e.ename from emp e  where e.empno < > ALL (select m.mgr from emp m);      { it display the employee who has no subordinate }
17. Which is more faster - IN or EXISTS

EXISTS is faster than IN because EXISTS returns a Boolean value whereas IN returns a value.

IN search each row for a value although it get a row once
but
When EXISTS get a row for a value then it do not go for next row 
ex( select empno,ename,job from emp e where exists( select ‘em’ from emp ee where ee.mgr = e.empno)      { it display the out put who has sub ordinate }
18. What are various joins used while writing SUBQUERIES

Self join- self join is a join where foreign key of a table references the same table.

Outer Join- outer join is a join where all the rows of one of the tables in the join condition don't satisfy the join condition.

Equi-join- In equi join a join condition that retrieves rows from one or more tables in which one or more columns in one table are equal to one or more columns in the second table.

19. It is the difference between count(*) and count(column_name) and count(distinct column_name) ?

Count(*)( use to count the no of rows present in the table.

Count(column-name)( count the number of not null values present in the column.

Count(distinct column-name)( count the number of distinct not null value in the column.

20. How u change the table’s column size, type ?

 Syntax (
Alter table  table_name 

Modify column_name datatype(size)

Ex( alter table myemp


Modify job char(12);


How u get the no of columns in the table?

 desc table_name;
21. How u add a new column and drop an execting column?

To add the column (


alter table table_name 



add column datatype(size);

To drop the column (


alter table table_name 



drop column-name ;
22. How u can enable and disable a constraint?

· Enable means to activate  and disable means deactivate the column’s constraints.

· To enable the constraint(
· Alter table table_name

· Enable constraint constraint_name;

· To disable the constraint (
· Alter table table_name 



Disable constraint constraint_name;

23. How u make a column unused?

alter table tabl_name
set unused(column_name);


or

alter table table_name

set unused column com_name;
24. What is the difference between ON DELETE CASCADE and  ON DELETE SET NULL ?
ON DELETE CASCADE ( when we delete the rows of parent table then the dependent child table rows are deleted by using ON DELETE CASCADE.
ON DELETE SET NULL ( When we delete the rows of parent table then the dependent child table column value filled with null by using ON DELETE SET NULL.
Syntax(

Constraint constraint_name_fk foreign key (child_table_column)


References parent_table_name(parent_table_column)


On delete cascade / on delete set null ;

25. From which data dictionary U get the name of tables created by the user?

 
Select table_name from user_tables ;

How u get the information of the tables?



Select * from user_tab_columns  where table_name = ‘EMP’;


how u get the constraints associated with the column in a table?



Select constraint_name , column_name 
from    user_cons_columns     where   table_name   =   ‘EMP’;
26. From which data dictionary u get the objects created by the user?


Select * from user_objects ;

27. What are various constraints / integrity constraints  used in SQL? How u can impose the constraint? Name the data dictionary that stores user-defined constraints?

NOT NULL        ( we can not impose a NOT NULL constraint in table level.
UNIQUE KEY

PRIMARY KEY

FOREIGN KEY

CHECK

Syntax of imposing constraint (

Create table table_name  ( column_name data type( size) constraint constr_name  NOT NULL , column_name data type( size) , column_name data type( size)   ,   -  -  -  ,  constraint constr_name  constraint_type(column_name) , constraint constr_name  constraint_type(column_name)  ,  -  -  -   ) ;

 User_cons_columns  is the data dictionary tables where we get which constraint impose to which column.

Select column_name , constraint_name from user_cons_columns where table_name = ‘myemp’;

28. What is referential integrity ?

Referential integrity is a database concept that ensures that relationships between tables. Referential integrity establishes when one table has a foreign key to another table.           
                  Referential integrity has the following three rules:
1. We may not add a row to the child table unless the parent table does not contain data.

2. If the primary key for a row in the parent table changes, all corresponding rows in the child table must be modified using a cascading update.

3. A row in the parent table can be deleted, when child table does not contain the corresponding row.

29. How we add a NOT NULL constraint after creating a table?

Alter  table table_name 

modify column_name constraint constraint_name NOT NULL.

30. What is difference between UNIQUE and PRIMARY KEY constraints

A table can have only one PRIMARY KEY, 

Whereas there can be any number of UNIQUE KEYs.

The columns that compose PRIMARY KEY are automatically define NOT NULL as well as UNIQUE, 

Whereas a column that compose a UNIQUE KEY is not automatically defined to NOT NULL but u can specify the column as NOT NULL also.

31. Can a primary key contain more than one column?

Yes, by the help of composite primary key .

Alter  table table_name 

modify column_name1, column_name2, 

constraint constraint_name   primary key(col1,col2 . . . . );
32. What is difference between Rename and Alias?

Rename is a permanent name given to a table or column which exist permanently,

 Whereas Alias is a temporary name given to a table or column which do not exist after one execution of the SQL statement.

33. What are different Oracle database objects

TABLES

VIEWS

INDEXES

SYNONYMS

SEQUENCES

34. What is a view? How many type of views are there ? 

A view is nothing but a window of an existing table by which one can view and can also change the values in tables. View does not contain data. 
View is two type ie  simple view and complex view.
How u create simple view and complex view?

Simple view(
Create or replace view_name 

as
Select col_name1, col_name2,- - - - - - -  - expr_col1, expr_col2, - - - - - -  from tab_name/s

Where condition;
Complex view(
Create or replace view_name (view_col1, view_col2, - - - - - - -)

As

Select col_name1, col_name2,- - - - - - -  - expr_col1, expr_col2, - - - - - -  from tab_name/s

Where condition;
No of columns in the view column list must be same as select statement column list.
ex (

  create or  replace view triger_viw

   

as


select e.empno, e.ename, e.job, e.deptno, md.dname,      
     
md.loc       from employ e ,mdept md 
   where e.deptno = md.deptno

How we see a view definition / DDL?

Select   text    from user_views where view_name= ’vi_name’. 

35. What is the difference between simple view and complex view?
Simple view selects data from only one table.
Simple view doesn’t contain group functions.

User can perform the DML operation by the simple view.

Complex view select data from more than one table.

Complex view can contain group functions & group by clause.

User can not perform the DML operation by the complex views.

36. Can u create a view without a table?

 yes    by using  ONFORCE key word we can create a view if table is not present.

    how u create a force view?

create onforce view view_name 

as select column_list from not_exit_tab_name;

37. What are the restrictions in view when we perform DML operation?
Can not insert data if the view contain 

· GROUP functions,

· A GROUP BY clause,

· DISTINCT keyword,

· pseudo-column ROWNUM keyword,

· if NOT NULL columns of the table is not selected by the view.

can not update the data if the view contain 

· GROUP functions,

· A GROUP BY clause,

· DISTINCT keyword,

· pseudo-column ROWNUM keyword,

· columns defined by expression.

can not delete the row by the view if view contain
1. GROUP functions,

2. A GROUP BY clause,

3. DISTINCT keyword,

4. pseudo-column ROWNUM keyword,

38. What is materialize view in sql?

Materialize view is a replica of a target master at a single point of time. A materialized view is similar to a view but the data is actually stored on disk. . A MV must be refreshed when the data in the underlying tables is changed.

create materialize view

CREATE MATERIALIZED VIEW my_test_mv

      

AS SELECT * FROM scott.emp;
referesh materialize view

begin


dbms_mview.refresh('MY_TEST_MV', method=>'C', atomic_refresh=>false);

END
39. what is the difference between view and materialize view?

view(
A view takes the output of a query and makes it appear like a virtual table. You can use a view in most places where a table can be used.

All operations performed on a view will affect data in the base table so it can handle by the integrity constraints and triggers of the base table.

A View can be used to simplify SQL statements for the user. A View can also be used to improve security by restricting access to a predetermined set of rows or columns.

In addition to operating on base tables one View can be based on another a view can also JOIN a view with a table (GROUP BY or UNION).

materialize view (
Materialized views are schema objects that can be used to summarize precompute replicate and distribute data.
A materialized view provides indirect access to table data by storing the results of a query in a separate schema object / table space. 

The existence of a materialized view is transparent to SQL but when used for query rewrites will improve the performance of SQL execution. 
You can define a materialized view on a base table partitioned table or view.

 you can define indexes on a materialized view.

A materialized view can be stored in the same database as its base table(s) or in a different database.

40. How you will avoid duplicating rows in a query

By using DISTINCT

41. Which datatype is used for storing graphics and images

LONG RAW  data type is used for storing BLOB's (binary large objects).

42. What is commit, rollback and save point?

Save point give the mark within the transactions.

Transaction is temporary until transaction is committed. By firing commit all the save points are erased. 
Rollback discards the current transaction or discards the transaction to certain save point.

43. Difference between nested and correlated sub query?

Nested sub query( 


In nested sub query the inner query execute first.


The outer query is execute once by taking the value of the inner query,
Correlated sub query(

The outer query fetches the candidate row.


The inner query check the candidate row is valid or not by checking the condition.


The process is continued until all the candidate rows are finish.

44. What is inline view ? give an example?

Inline view is a names sub query in the from cause of the outer query.

We can use order by clause in inline view when we go for a Top--n analysis.

45. What is the difference between rowid and rownum?

Rowid is automatically generated unique id of a row an it is generated at the time of insertion of row. rownum is temporary serial number allocated to each returned row during query execution.

46. What is a CO-RELATED SUBQUE RY

It will change as per the query statement. 
The outer query fetches the candidate row.


The inner query check the candidate row is valid or not by checking the condition.


The process is continued until all the candidate rows are finish.

eg

SELECT field1 from table1 X

WHERE field2  > ( select avg(field2) from table1 Y

Where  field1=X.field1  );

(The subquery in a correlated subquery is revaluated for every row of the table or view named in the outer query.)
47. what is the difference between pairwise comparison and nonpairwise comparison ?


in the nonpairwise comparison each of the columns from the where clause of the outer query individually compared  to the multiple value returned by the inner query.


in the pairwise comparison each of the columns from the where clause of the outer query compared  to the multiple value returned by the inner query at the same time.


ex of pairwise comparison (

select    ename ,   mgr   ,   deptno   from    emp 


where  (   mgr  ,   deptno  )    in 


   (    select    mgr  ,   deptno      from emp   




where    empno    in   (   7766   ,   7876 )   )


and    empno     not in     (    7766   ,   7876    ) ;

ex of nonpairwise  comparison (

select    ename ,   mgr   ,   deptno   from    emp 


where      mgr    in 


(    select    mgr      from emp   




where    empno    in   (   7766   ,   7876 )   )

and      deptno         in 



   (    select    deptno      from emp   




where    empno    in   (   7766   ,   7876 )   )


and    empno     not in     (    7766   ,   7876    ) ;

48. Why we use with clause and give an example?

By using the with clause we can define the query block before using it in a query. When the query is used more than once in a complex query ,  by using with clause we can make the query reuse.  with clause make the  query easy to read. with clause can hold more than one query separated by comma.

with 


dept_cost         as 
(


select    dname,  sum(sal )     d_total        from   emp,   dept  

where emp.empno   = dept.deptno      group by   dname)      ,

   
avg_emp_cost       as      (


select    deptno,  sum(sal ) / count(*)   d_avrg  from   emp 


group by   deptno )  


select    *     from    dept_cost      where      d_total     >   



(   select    d_avrg        from      avg_emp_cost   );

49. How will you delete duplicating rows from a base table

delete from table_name where rowid not in (select max(rowid) from table group by duplicate_values_column_name);

                            or

Delete duplicate_values_column_name dv from table_name ta where rowid   < (select min(rowid) from table_name tb where ta.dv=tb.dv );

50. Suppose customer table is there having different columns

like customer no, payments. What will be the query to select top three max payments.

SELECT customer_no, payments from customer C1

WHERE 3<=(SELECT COUNT(*) from customer C2

WHERE C1.payment <= C2.payment)

51. Display the records between two range

select rownum, empno, ename from emp where rowid in

(select rowid from emp where rownum <=&upto

minus select rowid from emp where rownum<&Start);

52. Find out nth highest salary from EMP table

SELECT   DISTINCT (a.sal)     FROM   EMP   A   WHERE   &N = (SELECT   COUNT (DISTINCT (b.sal))    FROM    EMP    B
 WHERE a.sal<=b.sal);

For Eg:-

Enter value for n: 2

SAL

---------

3000

53. Display Odd/ Even number of records

Odd number of records:

select * from emp where (rowid,1) in (select rowid, mod(rownum,2) from emp);

Output:-

1

3

5

Even number of records:
select * from emp where (rowid,0) in (select rowid, mod(rownum,2) from emp)

Output:-

2

4

6

54. what is the synonym? How u hide a table?
Synonym use to provide the alternative name to the table, view, sequence, procedure etc. By using synonym we can hide the table.
create [public] synonym syno_name 

for obj_name;

to drop the synonym the syntax is (

drop [public] synonym [schema .] synonym_name [force];
The public phrase allows you to drop a public synonym. If you have specified public, then you don't specify a schema. force is use to drop forcefully.
55. How u can swap two columns OR two columns data?
update mytab mt

set ename=(select job from mytab m where mt.empno = m.empno),

job = (select ename from mytab m where mt.empno = m.empno)

56. What is the out put of these statements?


a.  select * from emp where null = null;


   No row is selected - - - -  because the null can not compare with null.  
b.  select * from emp where null is null;



It display the no of rows present in the table  - - -  because the null is null returns true. 

c.  select * from emp where 1 = 1;



It display the no of rows present in the table  - - because 1 = 1 returns true.
select * from emp where 1 =2;


No row is selected - - - -  because 1 = 2 returns false.
select 1 from dual;



It display 1 .
select 1 from dual where sysdate = sysdate;



It display 1 . as the condition is true.

57. How u get the null values present in the unique key column?
select colm_name from table_name where column_name is null;




OR

select * from table_name where column_name is null ;
58. How u create a table only with the structure of another table?

create table tab_name 

as select col_list / * from master_tab_name; 
ex( create table mytable



as select ename, sal, job, deptno from emp; 

59. Find out nth lowest salary from emp table

SELECT DISTINCT (a.sal) FROM EMP A WHERE &N = (SELECT COUNT (DISTINCT (b.sal)) FROM EMP B

WHERE a.sal>=b.sal);

60. The nvl function only allows the same data type(ie. number or char or date Nvl(comm, 0)), if commission is null then the text “Not Applicable” want to display, instead of blank space. How do I write the query?

SQL> select nvl(to_char(comm.),'NA') from emp;

Output :

NVL(TO_CHAR(COMM),'NA')

-----------------------

NA

300

500

NA

1400

NA

NA

61. Display the number value in Words

SQL> select sal, (to_char(to_date(sal,'j'), 'jsp')) from emp;

the output like,

SAL                (TO_CHAR(TO_DATE(SAL,'J'),'JSP'))

--------- -        ----------------------------------------------------

800                    eight hundred

1600                   one thousand six hundred

1250                 one thousand two hundred fifty

SQL> select sal   "Salary ",

(' Rs. '|| (to_char(to_date(sal,'j'), 'Jsp'))|| ' only.'))

Salary         Sal in Words

-------        ------------------------------------------------------

800              Rs. Eight Hundred only.

1600            Rs. One Thousand Six Hundred only.

1250            Rs. One Thousand Two Hundred Fifty only.

Note ( .      j        is the Julian day i.e. the no of days since 31 dec 4731 BC
62. How u know the privileges given to the user?


select PRIVILEGE from  user_tab_privs_recd where table_name = ‘tab_nam’; - - - - - -> for the required table
63. What is a pseudo column. Give some examples

It is a column that is not an actual column in the

table.

eg USER, UID, SYSDATE, ROWNUM, ROWID, NULL, AND LEVEL.

64. How you will avoid your query from using indexes

SELECT * FROM emp Where emp_no+' '=12345;

i.e you have to concatenate the column name with

space within codes in the where condition.

SELECT /*+ FULL(a) */ ename, emp_no from emp

where emp_no=1234;

i.e using HINTS

65. What is difference between Rename and Alias? 

Rename(This is a DDL command which is used to the change the name of an object 
Alias( Alias is the alternate name given to the table or columns while select statement output need to customize. This alias is used generally to join a same table to overcome from the ambiguous setution.

66. Which date function returns number value?

                months_between( )

67. How u calculate the days between the two dates?

  Select to_date('12-jan-2010' , 'dd-mon-yyyy')       to_date('24-jan-2010'  ,  'dd-mon-yyyy') from dual;

68. what is index? How many index in sql?

Index is a data base object that can improve the performance of the searching data from the table. Because by the help of the index we need not go for the full table scan. 

There is two type of index in oracle ie unique index  and nonunique index.

Unique index is created automatically when a table is created by imposing primary key or unique key constraint.

nonunique index is created by the user.

Syntax( create    index       name_of _index

 On table_name(column_name / column_name using function); 

There is five type of index ie  b-tree index , bitmap index , unique index , non unique index , functional index.

69. what is btree and bitmap index?

B-tree index (

In b-tree index the searching is based on binary search tree concept.

The data is searched compared with the value at the mid point. If the mid point value is greater than the search value then searching go for the lower side of the midpoint value. And the values which are greater then the mid point value are eliminated. So the searching is faster.

Bitmap index (

Bitmap index is a structured like matrix where the data and the rowids are present. When the data is searched and found then it give 1 and when the data is not found then it give 0 as the bit.  By the help of the bit and rowed it give the searched rows.

what is functional index

Create functional index

Create index  func_index_upp

On  myemp(upper(job));

70. What is the purpose of a cluster index?

When a primary key impose to the column of a table then cluster index is automatically created.
by the help of the cluster index the data can retrieve fister.

when we retrieve data by  joining the tables the cluster index helps.

71. what is the difference between rank and dense rank?

RANK() returns the rank of items in agroup.
Rank() leave a gap in the sequence of ranking in the event of tie.
Dense rank() return the rank of item in a group.

Dense rank() does not leave gap in the sequence of ranking in the event of tie.

72. How do you find the numbers of rows in a Table ?'

SELECT COUNT(*) FROM table_name
73. what is sequence? What is difference between nextval and currval?

  A sequence is a highly scalable, non-blocking, generator that generates unique numbers.
Syntax to create sequence(
Create sequence sequ_name 

start with <no> 

increament by <no>

maxvalue <no> / nomaxvalue

minvalue <no> / nominvalue

cycle / nocycle

cache <no> / nocache

Ex


Now create sequence.

Create sequence sql_sequ start with 1 increament by 1;

             Now create a table .

Create table seq_tab1( nu  number(2) );

             Now create another table.

Create table seq_tab2(se  number(2),nu  number(2) );

             Now insert  in table1.

Insert into seq_tab1 values (55);

Insert into seq_tab1 values (27);

Insert into seq_tab1 values (81);

Insert into seq_tab1 values (32);


Now insert into table2

Insert into seq_tab2 select sql_sequ.nextval,nu from seq_tab1;


Select row from table2

Select * from seq_tab2;




[image: image1.png]55

27

a1

32




Currval (
  
Currval can only be used if a session has already called nextval on a trigger. Currval will then return the same number that was generated with nextval:

             Now currval display  4

             Select  sql_sequ.currval from dual;

Nextval (
            When nextval is invoke the sequence create a new unique no.  


Now nextval display 5.

            Select  sql_sequ.nextval from dual;

Currval (
  
Now currval display  5 .

74. What are snapshots?
A snapshot is a copy of a table on a remote database.

If you create a snapshot or materialized view, it will now show "Materialized View created" instead of "Snapshot created".

75. what are the set operators in sql?
The set operators combine multiple queries into single query.
For set operation the no of columns ,name of columns and data type of the columns must be same in both the query.

Set operators are UNION, UNION ALL, INTERSECT, and MINUS

UNION(
By using UNION operator we can select all rows by eliminating duplicate rows from multiple queries.

By default the out put is in ascending order.


Ex( select empno, job from emp



Union



     Select empno, job from transfer_emp; 

UNION ALL (
By using UNION ALL operator we can select all rows including duplicate rows from multiple query.

User has to mention the order of the out put.


Ex(select empno, job from emp




Union all



     Select empno, job from transfer_emp; 

INTERSECT (
By using INTERSECT operator we can select all rows common to the multiple query.

By default the out put is in ascending order.


Ex(select empno, job from emp




INTERSECT



     Select empno, job from transfer_emp; 

MINUS( 
MINUS operator return the rows returned by the first query that are not in the second query.
By default the out put is in ascending order.


Ex(select empno, job from emp




MINUS 



     Select empno, job from transfer_emp; 

76. What is sql loader ? How we can load external files data in data base?
SQL*Loader (sqlldr) is the utility by which data can be loaded from any text file and inserted into the database.

step 1(

create a text file or csv file which contain the data .

step 2 (

create the control file with the extension  .ctl 

load data

infile 'E:\oracle\ora90\emp.csv' - - - - external file path
[append / replace] - -use appent when u add data in table with exist data.
into table xyz_table - - - -  table where data is inserted
fields terminated by "," optionally enclosed by '"'

(name , job ) - - - -  - - -   column list 
step 3 ( 

execute the control file in the command prompt.

sqlldr  scott 

give the control file path ie the path of .ctl file 

give the pass word


what r the problem in sql loder ?
1st ( when the data is too long (like 3000)and going to insert then it show an error ie data is too long . to fix the problem we have to mention the length of the column in control file with character data type.

ex (  name char (50),address char(3000)

2nd (The spreadsheet may contain cells with newline characters (ALT+ENTER)

77. What is difference between SQL and SQL*PLUS

SQL*PLUS is a command line tool that allows user to type SQL commands to be executed directly against an Oracle database. SQL is a language used to query the relational database(DML,DCL,DDL). SQL*PLUS commands can be abbreviated but SQL and PL/SQL commands are not.
78. what is partitioning in oracle?

 Partitioning enables tables to subdivided into smaller manageable pieces and these each small piece is called a "partition"
Advantages of using Partition’s in Table
1. Smaller and more manageable pieces of data ( Partitions )
2. Reduced recovery time
3. Failure impact is less
4. import / export can be done at the " Partition Level".
5. Faster access of data
6. Partitions work independent of the other partitions.
7. Very easy to use

Types of Partitioning Methods

1. RANGE Partitioning
2. HASH Partitioning

3. List Partitioning

5. Composite Range-List Partitioning

5. Composite Range-Hash Partitioning

RANGE Partitioning
This type of partitioning creates partitions based on the " Range of Column" values. Lets say we have a table SAMPLE_ORDERS and it has a field ORDER_DATE. So Every Quarter Data becomes a partition in the SAMPLE_ORDER table.

CREATE TABLE SAMPLE_ORDERS
( ORDER_NUMBER NUMBER, ORDER_DATE DATE, 

CUST_NUM NUMBER, TOTAL_PRICE NUMBER,
TOTAL_TAX NUMBER,
 TOTAL_SHIPPING NUMBER) ------( these are the column lists
         PARTITION BY RANGE(ORDER_DATE)
        (
PARTITION SO99Q1 VALUES LESS THAN TO_DATE(‘01-APR-     1999’, ‘DD-MON-YYYY’),
PARTITION SO99Q2 VALUES LESS THAN TO_DATE(‘01-JUL-1999’, ‘DD-MON-YYYY’),
PARTITION SO99Q3 VALUES LESS THAN TO_DATE(‘01-OCT-1999’, ‘DD-MON-YYYY’),
= = = = = = =  = = = = ==  =
= == = = = = = == = = 

== ==== == ==  = =        );
HASH Partitioning

Under this type of partitioning the records in a table, are partitions based of a Hash value of the column

CREATE TABLE SAMPLE_ORDERS
(ORDER_NUMBER NUMBER, ORDER_DATE DATE, CUST_NUM NUMBER,
TOTAL_PRICE NUMBER, TOTAL_TAX NUMBER, TOTAL_SHIPPING NUMBER,
ORDER_ZIP_CODE) ------( these are the column lists
           PARTITION BY HASH (ORDER_ZIP_CODE)
(PARTITION P1_ZIP TABLESPACE TS01, 
PARTITION P2_ZIP TABLESPACE TS02,
PARTITION P3_ZIP TABLESPACE TS03, 
PARTITION P4_ZIP TABLESPACE TS04)
ENABLE ROW MOVEMENT

List Partitioning ( Only with 9i)

Under this type of partitioning the records in a table are partitioned based on the List of values of a table. for example ‘Government’ , ‘Asian’ , ‘Employees’ , ‘American’, ‘European’ goes under separate group of communities so a List Partition can be created for individual groups.
CREATE TABLE SAMPLE_ORDERS
(ORDER_NUMBER NUMBER, ORDER_DATE DATE, CUST_NUM NUMBER, TOTAL_PRICE NUMBER, TOTAL_TAX NUMBER, TOTAL_SHIPPING NUMBER, SHIP_TO_ZIP_CODE,
SHIP_TO_STATE) ------( these are the column lists
          PARTITION BY LIST (SHIP_TO_STATE)
(PARTITION SHIP_TO_ARIZONA VALUES (‘AZ’) TABLESPACE TS01, 
PARTITION SHIP_TO_CALIFORNIA VALUES (‘CA’) TABLESPACE TS02, 
PARTITION SHIP_TO_ILLINOIS VALUES (‘IL’) TABLESPACE TS03, 
PARTITION SHIP_TO_MASACHUSETTES VALUES (‘MA’) TABLESPACE TS04, 
PARTITION SHIP_TO_MICHIGAN VALUES (‘MI’) TABLESPACE TS05)
ENABLE ROW MOVEMENT;
Composite Range-Hash Partitioning

This is basically a combination of range and hash partitions. So basically, the first step is that the data is divided using the range partition and then each range partitioned data is further subdivided into a hash partition using hash key values

CREATE TABLE SAMPLE_ORDERS
(ORDER_NUMBER NUMBER,  ORDER_DATE DATE,CUST_NUM NUMBER,CUST_NAME VARCAHR2, TOTAL_PRICE NUMBER,TOTAL_TAX NUMBER,TOTAL_SHIPPING NUMBER,
SHIP_TO_ZIP_CODE,SHIP_TO_STATE)  ------( these are the column lists 
TABLESPACE USERS
PARTITION BY RANGE (ORDER_DATE) 
SUBPARTITION BY HASH(CUST_NAME) 
SUBPARTITION TEMPLATE(
(SUBPARTITION SHIP_TO_ARIZONA VALUES (‘AZ’) TABLESPACE TS01, 
SUBPARTITION SHIP_TO_CALIFORNIA VALUES (‘CA’) TABLESPACE TS02, 
SUBPARTITION SHIP_TO_ILLINOIS VALUES (‘IL’) TABLESPACE TS03, 
SUBPARTITION SHIP_TO_NORTHEAST VALUES (‘MA’, ‘NY’, ‘NJ’) TABLESPACE TS04, 
SUBPARTITION SHIP_TO_MICHIGAN VALUES (‘MI’) TABLESPACE TS05)
(
PARTITION SO99Q1 VALUES LESS THAN TO_DATE(‘01-APR-1999’, ‘DD-MON-YYYY’),
PARTITION SO99Q2 VALUES LESS THAN TO_DATE(‘01-JUL-1999’, ‘DD-MON-YYYY’),
PARTITION SO99Q3 VALUES LESS THAN TO_DATE(‘01-OCT-1999’, ‘DD-MON-YYYY’),
PARTITION SO99Q4 VALUES LESS THAN TO_DATE(‘01-JAN-2000’, ‘DD-MON-YYYY’),
PARTITION SO00Q1 VALUES LESS THAN TO_DATE(‘01-APR-2000’, ‘DD-MON-YYYY’),
PARTITION SO00Q2 VALUES LESS THAN TO_DATE(‘01-JUL-2000’, ‘DD-MON-YYYY’),
PARTITION SO00Q3 VALUES LESS THAN TO_DATE(‘01-OCT-2000’, ‘DD-MON-YYYY’),
PARTITION SO00Q4 VALUES LESS THAN TO_DATE(‘01-JAN-2001’, ‘DD-MON-YYYY’)
)
ENABLE ROW MOVEMENT;

Composite Range-List Partitioning 

This is also a combination of Range and List Partitions, basically first the data is divided using the Range partition and then each Range partitioned data is further subdivided into List partitions

CREATE TABLE SAMPLE_ORDERS
(ORDER_NUMBER NUMBER,  ORDER_DATE DATE,  CUST_NUM NUMBER, 
CUST_NAME VARCAHR2,   TOTAL_PRICE NUMBER,  TOTAL_TAX NUMBER,
TOTAL_SHIPPING NUMBER, SHIP_TO_ZIP_CODE,
SHIP_TO_STATE) ------( these are the column lists


TABLESPACE USERS
PARTITION BY RANGE (ORDER_DATE) 
SUBPARTITION BY LIST(SHIP_TO_STATE)

 
SUBPARTITION TEMPLATE(
SUBPARTITION SP1 TABLESPACE TS01,
SUBPARTITION SP2 TABLESPACE TS02,
SUBPARTITION SP3 TABLESPACE TS03,
SUBPARTITION SP4 TABLESPACE TS04,
SUBPARTITION SP5 TABLESPACE TS05)
          (
PARTITION SO99Q1 VALUES LESS THAN TO_DATE(‘01-APR-1999’, ‘DD-MON-YYYY’),
PARTITION SO99Q2 VALUES LESS THAN TO_DATE(‘01-JUL-1999’, ‘DD-MON-YYYY’),
PARTITION SO99Q3 VALUES LESS THAN TO_DATE(‘01-OCT-1999’, ‘DD-MON-YYYY’),
PARTITION SO99Q4 VALUES LESS THAN TO_DATE(‘01-JAN-2000’, ‘DD-MON-YYYY’),
PARTITION SO00Q1 VALUES LESS THAN TO_DATE(‘01-APR-2000’, ‘DD-MON-YYYY’),
PARTITION SO00Q2 VALUES LESS THAN TO_DATE(‘01-JUL-2000’, ‘DD-MON-YYYY’),
PARTITION SO00Q3 VALUES LESS THAN TO_DATE(‘01-OCT-2000’, ‘DD-MON-YYYY’),
PARTITION SO00Q4 VALUES LESS THAN TO_DATE(‘01-JAN-2001’, ‘DD-MON-YYYY’)
        )
ENABLE ROW MOVEMENT;


79. What is normalization?

Normalization is the process of efficiently organizing data in a database or simplifying the relationship among data in database. There are two goals of the normalization process: eliminating redundant data (repeated data) and storing related data in a table. 

 

Normalization helps in reducing data repetition. Normalization also helps in simplifying the structure of the table.

1NF: In first normalization states there must not be any duplicates in the tables. In other words, all the tables used must have a primary key defined.

2NF: This type of normalization states that data redundancy can be reduced by the help of composite primary key in the table. 2NF not only reduces data repeation but also helps in increasing data preservation 
when a delete is done. 
For example, consider a table that has the following columns: Part Id, State, City, and Country. Here, assume Part Id & Country form the composite primary key. The attributes state & city depend only on the country. 2NF states that if such is the case then split the table into 2 tables. One with Part Id & country as the columns. Other with Country, state & city as the columns. In the 1st table if a delete is made to all the rows with Part Id = ‘X’ then we would lose country related data too. But in the 2nd case this would not happen. 

3NF: This type of normalization states that if a dependency exists on certain attributes other than the primary key then the table split depending on the dependency has to be done.
Consider the same example above. In the present case consider that Part Id is the only primary key. Now state, city depend only on country & not on Part Id. This table is already in 1NF & 2NF. But to achieve 3NF we would do the same split as above. 
80. what are the steps of the execution plan of a select statement?


In toad press ctrl+e to see the execution plan of the select statement;
